






	 At this point the pressure plate should have .702” from the top cover to 
the donut plate (see figure 2.) and .140” between the top cover to the donut plate 
(see figure 3.). Note, the dial indicator is used as a reference gauge and should be 
checked periodically insure accuracy. Check this by setting clutch as described in 
figures 2 & 3, then calibrate the dial indicator by inserting it into the checking hole 
and resetting.

2

Figure 3 - Checking 
pressure plate height with 
dial calipers using the 
inside measuring faces. 
The correct measurement 
between the top cover and 
the donut plate is .140". 
This measurement can 
only be made with the 
bellhousing removed.

STEP 12	
CLUTCH RELEASE CLEARANCE
Insert dial indicator into checking hole 
and hold into position. Have team 
member depress clutch pedal. Set pedal 
stop so that the clutch has between 
.050" and .070" release clearance. 
Always check 2 holes 180° apart then 
average the number. Always use pedal 
stop, never allow the clutch levers to 
contact the pressure plate. 

Figure 1 - Needle will be at zero when 
pressure plate is at the properly installed 
height. Needle will pass zero once and 
then make one complete revolution back 
to zero. Make sure nut is torqued before 
checking with a dial indicator.

Figure 2 - Check 
pressure plate 
height with calipers, 
using the depth 
measuring blade. 
Correct height 
is .702", this 
measurement can 
be made through 
the inspection hole. 

.0
25

 - 
.0

30
  

FE
EL

ER
 G

AG
E 
* 

BE
TW

EE
N

 A
R

M
 &

 C
O

VE
R

 O
N

LY

.0
25

  
FE

EL
ER

 G
AG

E

��
*  O

N
 9

” P
.C

. C
LU

TC
H

10
” P

.S
. C

LU
TC

H
, 

.1
87

 W
ID

E 
AR

M
S 

R
EQ

U
IR

E 
.0

60
 F

EE
LE

R
 

BE
TW

EE
N

 C
LE

VI
S 

+ 
AR

M
S

BE
TW

EE
N

 C
LE

VI
S 

& 
AR

M
 O

N
LY

��TI
G

H
TE

N
 A

R
M

S 
AC

R
O

SS
 F

R
O

M
 E

AC
H

 O
TH

ER
1

4 5

2

36



RECOMMENDATIONS: 
STEP 1 	 Remove clutch from vehicle making sure to keep all parts 
		  such as discs and floaters in the same order they were installed. 
 
STEP 2		 Wipe clutch discs clean with dry cloth. 
 
STEP 3		 Clean floaters, flywheel, stands and pressure plate  
		  assembly with cleaning fluid and dry thoroughly, make sure 
		  not to mix-up stands if you remove male from female. 
 
STEP 4		 Check discs for chipping, warping, glazing and discoloration. 
 
STEP 5		 Check floaters  for cracks, warping, worn lugs, high spots  
		  and discoloration. 
 

3

STEP 1 	 Remove inspection covers/access plates. 
 
STEP 2		 Cool clutch with electric fan. 
 
STEP 3		 Check for wear with dial indicator. 
 
STEP 4		 Re-zero clutch if wear exceeds .005” 
 
STEP 5		 Check release clearance. 
 
STEP 6		 Reset release clearance if it exceeds .005” of original setting.
 
STEP 7		 Visually inspect clutch though inspection hole making sure
		  there is ample throw-out clearance (3/8”), all counterweight 
		  bolts and nuts are tight, no excessive wear of levers, no  
		  immediate discoloration of discs or floaters or anything  
		  else unusual. 
 
STEP 8		 Always re-torque pressure plate nuts after each run  
		  regardless of whether or not readjustment is required. 
 
STEP 9		 Make any clutch changes that may be required and install 
		  inspection covers. 

BETWEEN ROUND PROCEDURES

BETWEEN RACE MAINTENANCE

PRO-SPORTSMAN SERIES

SIZE 
78702-TS 
78712-TS 
78703-TS 
78713-TS 
78101-TS 
78168-TS 
78401-TS 
78407-TS 
78408-TS 
78409-TS 
78410-TS 
78411-TS 
78416-TS 
78422-TS 
78423-TS 
78432-TS 
78433-TS 
78435-TS 
78436-TS 
78440-TS 
78446 
78447 
78448 
78449 
78450 
78550 
78551 
78552 
78501-TS 
78900-TS 
78901-TS 
78910-TS

DESCRIPTION 
CLUTCH, 2 Disc Complete - SFI 
CLUTCH, 2 Disc Complete w/gear - SFI 
CLUTCH, 3 Disc Complete - SFI 
CLUTCH, 3 Disc Complete w/gear - SFI 
FLYWHEEL, Scalloped Aluminum - SFI 
FLYWHEEL, Scalloped Aluminum w/gear - SFI 
FACING SEGMENTS, (6) - SFI 
FLOATER PLATE - SFI 
TOP COVER, w / Spring Towers - SFI 
DONUT PLATE, Bare - SFI 
CLUTCH ARMS, w/ Clevis, (6) 
CROSS PINS, (6) 
PILOT BEARING, 2.046 x .787, Snap Ring 
STANDS, Titanium 2 Disc, 1 1/4 x 9/16 (6) 
STANDS, Titanium 3 Disc, 1 1/4 x 9/16 (6) 
STAND BOLTS, 2 Disc, 9/16 dia (6) 
STAND BOLTS, 3 Disc, 9/16 dia (6) 
SLEEVE WASHERS (6) 
STAND BOLT NUT, 9/16 (6) 
FACING BOLT & NUT, 5/16 - 24 x 5/8 (ea.) 
FLYWHEEL BOLTS, SPS 7/16 (6) 
FLYWHEEL WASHERS, Billet 7/16 (6) 
FLYWHEEL BOLTS, SPS 1/2 (8) 
FLYWHEEL WASHERS, Billet 1/2 (8) 
COUNTERWEIGHT KIT 
THROW-OUT BEARING, 1.900 (Long) 
THROW-OUT BEARING, 1.312 (Short) 
THROW-OUT BEARING, 1.750 (Medium) 
DISC, 10” - SFI 
PRESSURE SPRING, Light 1.060 dia 
PRESSURE SPRING, Light 1.270 dia 
DIAL INDICATOR

10



RECOMMENDATIONS (continued): 
STEP 6		 Check flywheel for warping. Check facing for wear, high 
		  spots, discoloration and smearing. Check stand bolts for 
		  thread damage, pilot bearing condition and of flywheel. 
 
STEP 7		 Check pressure plate assembly for warping, crack, worn 
		  levers, discoloration, worn facing smearing or wearing on 
		  partial surface. 
 
STEP 8		 Check throw-out bearing and associated components for 
		  wear, freedom of movement and general condition. 
 
Remember the clutch is a crucial part of a successful combination and is subjected 
to the worst possible abuse, therefore it is imperative that it is maintained regularly 
and properly for maximum performance.

PARTS AND SERVICE
Cower offers complete service and repair on Crower clutches and Crower clutch 
products, as well as technical support.  
 
All Clutches and components returned for service and repair will be subject to a 
minimum tear-down and inspection charge. Used parts requiring machine work will 
be subject to a machining charge based on the prevailing rate necessary for the 
operation. All used parts not meeting Crower Clutch specifications will be replaced 
at the customer’s expense.

1. Counterweight per arm____ grams. Total grams: ____ 
 
2. Static springs, number of turns____ grams. Total static ___ 
 
3.  Clutch release clearance___/___ with pedal stop. Typically .060/.070
 
4.  Your spring chart number is:_____

RECOMMENDED STARTING POINT FOR YOUR APPLICATION

4 9

PRO-SPORTSMAN SERIES

SIZE 
78702-PS 
78712-PS 
78703-PS 
78713-PS 
78101-PS 
78168-PS 
78401-PS 
78407-PS 
78408-PS 
78409-PS 
78410-PS 
78411-PS 
78416 
78422-T 
78423-T 
78432-T 
78433-T 
78435 
78436 
78440 
78446 
78447 
78448 
78449 
78450 
78550 
78551 
78552 
78501-PS 
78900-PS 
78901-PS 
78910-PS

DESCRIPTION 
CLUTCH, 2 Disc Complete - SFI 
CLUTCH, 2 Disc Complete w/gear - SFI 
CLUTCH, 3 Disc Complete - SFI 
CLUTCH, 3 Disc Complete w/gear - SFI 
FLYWHEEL, Scalloped Aluminum - SFI 
FLYWHEEL, Scalloped Aluminum w/gear - SFI 
FACING SEGMENTS, (6) - SFI 
FLOATER PLATE - SFI 
TOP COVER, w / Spring Towers - SFI 
DONUT PLATE, Bare - SFI 
CLUTCH ARMS, w/ Clevis, (6) 
CROSS PINS, (6) 
PILOT BEARING, 2.046 x .787, Snap Ring 
STANDS, Titanium 2 Disc, .925 (6) 
STANDS, Titanium 3 Disc, .925 (6) 
STAND BOLTS, 2 Disc, 1/2 dia (6) 
STAND BOLTS, 3 Disc, 1/2 dia (6) 
SLEEVE WASHERS (6) 
STAND BOLT NUT, 1/2 (6) 
FACING BOLT & NUT, 1/4 - 20 x 7/8 (ea.) 
FLYWHEEL BOLTS, SPS 7/16 (6) 
FLYWHEEL WASHERS, Billet 7/16 (6) 
FLYWHEEL BOLTS, SPS 1/2 (8) 
FLYWHEEL WASHERS, Billet 1/2 (8) 
COUNTERWEIGHT KIT 
THROW-OUT BEARING, 1.900 (Long) 
THROW-OUT BEARING, 1.312 (Short) 
THROW-OUT BEARING, 1.750 (Medium) 
DISC, 10” - SFI 
PRESSURE SPRING, Light 1.060 dia 
PRESSURE SPRING, Light 1.270 dia 
DIAL INDICATOR



5

SPRING CHART #1

	 	
	 # of Turns	 Total Static

	 0*	 366 lbs

	 1⁄2	 426 lbs

	 1	 468 lbs

	 1 1⁄2	 576 lbs

	 2	 630 lbs

	 2 1⁄2	 708 lbs

	 3	 768 lbs

	 3 1⁄2	 858 lbs

	 4	 924 lbs

	 4 1⁄2	 996 lbs

	 5	 1068 lbs

	 5 1⁄2	 1140 lbs

	 6	 1212 lbs

	 6 1⁄2	 1284 lbs

	 7	 1350 lbs

SPRING CHART #2

	 	
	 # of Turns	 Total Static

	 0*	 420 lbs

	 1⁄2	 450 lbs

	 1	 480 lbs

	 1 1⁄2	 510 lbs

	 2	 540 lbs

	 2 1⁄2	 585 lbs

	 3	 630 lbs

	 3 1⁄2	 675 lbs

	 4	 720 lbs

	 4 1⁄2	 750 lbs

	 5	 780 lbs

	 5 1⁄2	 810 lbs

	 6	 840 lbs

	 6 1⁄2	 885 lbs

	 7	 930 lbs

	 7 1⁄2	 975 lbs

	 8	 1020 lbs

* Base Pressure

* Base Pressure

CLUTCH COUNTERWEIGHTS

SIZE 
 

5/16” 
 

5/16” 
 

5/16” 
 

5/16” 
 

5/16” 
 

5/16” 
 

5/16” 
 

5/16” 
 

5/16” 
 

5/16” 
 

5/16” 
 

5/16” 
 

1/4” X 1/2” 
 

1/4” X 3/4” 
 

1/4” X 1” 
 

1/4” X 1 1/4” 
 

1/4” 
 

1/4” 
 

1/4”

DESCRIPTION 
 

Washer 
 

Jam Nut 
 

Full Nut 
 

Slug 
 

1/2” Long Bolt 
 

3/4” Long Bolt 
 

3/4” Long Bolt 
 

1” Long Bolt 
 

1 1/4” Long Bolt 
 

1 1/4” Long Bolt 
 

1 1/2” Long Bolt 
 

2” Long Bolt 
 

Bolt 
 

Bolt 
 

Shoulder Bolt 
 

Shoulder Bolt 
 

Thin Washer 
 

Thick Washer 
 

Jam Nut

WEIGHT 
 

1.1g 
 

3g 
 

1g 
 

8g 
 

9g 
 

11g 
 

3.7g 
 

13g 
 

15g 
 

5g 
 

17.7g 
 

22.5g 
 

5.5g 
 

6.5g 
 

8.5g 
 

9.5g 
 

1g 
 

2.2g 
 

2g

MATERIAL 
 

Steel 
 

Steel 
 

Aluminum 
 

Steel 
 

Steel 
 

Steel 
 

Aluminum 
 

Steel 
 

Steel 
 

Aluminum 
 

Steel 
 

Steel 
 

Steel 
 

Steel 
 

Steel 
 

Steel 
 

Steel 
 

Steel 
 

Steel

8



6

SPRING CHART #3

	 	
	 # of Turns	 Total Static

	 0*	 240 lbs

	 1⁄2	 270 lbs

	 1	 300 lbs

	 1 1⁄2	 345 lbs

	 2	 390 lbs

	 2 1⁄2	 410 lbs

	 3	 450 lbs

	 3 1⁄2	 495 lbs

	 4	 540 lbs

	 4 1⁄2	 570 lbs

	 5	 600 lbs

	 5 1⁄2	 630 lbs

	 6	 660 lbs

	 6 1⁄2	 710 lbs

	 7	 750 lbs

	 7 1⁄2	 795 lbs

	 8	 840 lbs

	 8 1⁄2	 870 lbs

	 9	 900 lbs

	 9 1⁄2	 945 lbs

	 10	 990 lbs

SPRING CHART #4

	 	
	 # of Turns	 Total Static

	 0*	 300 lbs

	 1⁄2	 315 lbs

	 1	 330 lbs

	 1 1⁄2	 360 lbs

	 2	 390 lbs

	 2 1⁄2	 420 lbs

	 3	 450 lbs

	 3 1⁄2	 465 lbs

	 4	 480 lbs

	 4 1⁄2	 510 lbs

	 5	 540 lbs

	 5 1⁄2	 570 lbs

	 6	 600 lbs

	 6 1⁄2	 630 lbs

	 7	 660 lbs

	 7 1⁄2	 675 lbs

	 8	 690 lbs

* Base Pressure

* Base Pressure

SPRING CHART #5

	 	
	 # of Turns	 Total Static

	 0*	 924 lbs

	 1⁄2	 996 lbs

	 1	 1074 lbs

	 1 1⁄2	 1182 lbs

	 2	 1266 lbs

	 2 1⁄2	 1350 lbs

	 3	 1428 lbs

	 3 1⁄2	 1524 lbs

	 4	 1608 lbs

	 4 1⁄2	 1698 lbs

	 5	 1794 lbs

	 5 1⁄2	 1908 lbs

	 6	 2004 lbs

	 6 1⁄2	 2100 lbs

	 7	 2196 lbs

7

* Base Pressure


